Divide by Positive Powers of Ten (G)

Find each quotient.

57 +10° = 90 + 10* =
76 + 103 = 55 = 10% =
67 + 10" = 18 + 10% =
68 +~ 103 = 33 +-10%3 =
80 =~ 101 = 48 - 10 =
64 +10° = 92 + 103 =
7+10%= 76 + 102 =
27 -~ 101 = 74 ~10% =
11+ 103 = 93 +~ 103 =
15+ 10% = 87 +10% =
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Divide by Positive Powers of Ten (G) Answers

57 - 103 =0.057

76 +~10°=0.076

67 +~10' =6.7

68 + 10° = 0.068

80 +~10'=8

64 + 10% = 0.64

7 +10%=0.07

27 +10' =27

11 +10°=0.011

15+ 10%=0.15

Find each quotient.

90 = 10'=9

55+ 10%=0.55

18 +10*=0.18

33 +10°=0.033

48 +~10'=4.8

92 +10°=0.092

76 +~ 10> =0.76

74 +10*=0.74

93 +10°*=0.093

87 + 10% = 0.87
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